Level F Revision

1.
a)
Write 5.63 x 104 as an ordinary number

b) Write 104 000 000 in scientific notation.

2.
a)
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3.
5 bottles of cola cost £8.50.  How many bottles would you get for £34.

4.
Calculate angle CAD in the rhombuses below.

a) b)





5.
a)
Split £4.80 in ratio 4:2
b)
Split £128 in ratio 5:3

6.
If a = -3, b = 2 and c = 5, calculate a2 – bc.

7.
a)
Round 2.0682 to 3 significant figures.


b)
Round 386.942 to 2 significant figures.

8.
Calculate the length of p.

a) b)







9.
What is the real length of a road that measures 8.4 cm on a map with scale 1: 40 000?
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